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M.Sc. (CHEMISTRY) 1t SEMESTER EXAMINATION, 2019
Paper - I1
ORGANIC CHEMISTRY
Time: Three Hours

Maximum Marks: 80

PART - A (@7 — 3]) [Marks: 20]
Answer all questions (50 words each).

All questions carry equal marks.

! 7o Sifard & qRlE Je #T GV 50 ] 7 SEE T &/
T g @ S THT &
PART - B (Gvs — §) [Marks: 40]
Answer five questions (250 words each).
Selecting one from each unit. All questions carry equal marks.
IR% §HIE H VH—9F F97 gId §Y, T gig qI7 B/
% go7 & IV 250 TGl & SfEE T &/
T geT @ S THT &
PART - C (@vs — @) [Marks: 20]

Answer any two questions (300 words each).

All questions carry equal marks.

P g gog Forv | gdd g9 HT GV 300 I o fE T &/
vt gl B 3B THT 8/
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Q.1 (a)

(b)

Q.2 (a)

(b)

Q.3 (a)

(b)

Q.4 (a)

[6212]

PART - A / Gvs— ¥

Give the difference between localized and delocalized chemical bonding.  [2]
R AR fReIIpd IRma® dud 7 ofcr AR |

Define Aromaticity. [2]
WHEHA BT IRATNT BIFTY |

Arrange following compounds in increasing order of acidic strength with
suitable reason: [2]

(CeHs)s C-H, (C¢H,),CH, and C;H,CH,

f=ferRaa Al @1 Id HRU AT 3T Uderdl & g 8¢ HA H FaRkerd
F— (CgH;); C-H, (CH;),CH, 3R C.H.CH,

Why phenol is more acidic than 2, 6-di tertiary butyl phenol? [2]

2, 6—SI8 qUII® LRl el &I o # el 1 areta aar 2°?
What is the difference between classical and non-classical carbocation? Give

suitable examples. [2]

RR—™T 3R IR—T™d BETberId ¥ T IR 27 Sfud Serevvr difviy |

Explain ambient nucleophile with examples. [2]

IR AMABFE! BT ISTERUN gRT THSSY |

Why direct nitration of aniline in not a satisfactory reaction? How it can be

carried out? [2]

Vel BT AT ATSSIARY Uh Admue AfAfhar & T8 8?7 39l b9 UeR

BT ST bl B2
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(b)

Why aniline does not undergo Friedel Crafts Reactions while phenol and

anisole undergo these reactions? [2]
Ul wisd dded affhard aaf € I € wafes e ok el A
JfhaTg ot 57

Q.5 Give one reaction of each of the following that shows — [2+2=4]

(a)
(b)

Chemo selective addition to carbon-carbon double bond.

Regioselective addition to carbon-carbon double bond.

1 5 A udd @1 e afdifhar Y S gwier 8 —

(a)
(b)

Q.6 (a)

(b)

Q7 (a)

(b)

[6212]

BIaT—hTe fgawl IR HIHEIRTfded IrT |

HraT—hra fgawer IR RISTenRcifaea I |

PART-B / Hvs— ¢

UNIT -1/ S18 — 1

What is Huckel rule? Explain with different suitable examples. (4]
Thal a1 27 fafr=T Sfea Sarervil gRT |wemsy |
What is cross conjugation? Explain in detail. (4]

DI G o7 57 fORR 4§ T |

Explain Aromaticity in nonbenzenoid hydrocarbons with suitable examples.[4]

ST ISTERON gRT TSI BISSIhlad § WRIAfeCHIT Bl Fasm=Y |

Discuss alternant and non alternant hydrocarbon with suitable examples.  [4]

Sfrd SarERvl @ WEdl W UhRl 3R IR UHNI BlgSIdbled &l fadem

PITY |
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UNIT -II/ s&15 — 11

Q.8 Write short notes on following methods of determination of reaction
mechanism — [4+4=8]
(a) Cross over experiments

(b) Product analysis

JAffchar o1 fhatfafer sd ®-e @ 7= faferl o dfera fewoft forfRay —
(a) URITHEA WA
(b) TcTE fageiyor
Q.9 Explain the following methods for determination of reaction mechanism — [4+4=8]
(a) Isotope Labelling

(b) Presence of Intermediate

Sifdfhar &1 fharfaf sma &g o fore= fafet &1 aassy —

(a) FERAIMS IFTTUD
(b) ¥eHadl B SuRerfa

UNIT -1/ 3&18 — 111

Q.10 (a) Give the difference between Sn1 and Sn2 reactions. [4]
Sn1 3R SN2 Srfframtl # iR I |

(b) Discuss any two factors affecting the Sn2 reactions. (4]

SN2 AfAfhITSM BT FIIfaT HRA aTel BIS & BRBI Bl fAda=T DIV |

[6212] Page 4 of 7



Q.11 Discuss the following —

(a) SET mechanism

(b) Neighbouring group participation

/= @ arRar BT —
(a) SET fwanfafer

(b) fwcadl A8 &1 INEH

UNIT -1V / 5&15 =1V

Q.12 Write short notes on —
(a) 1ipso substitution

(b) Benzyne mechanism

e R e fewoh foaRay —

(a) ipso—UfaRATYT

(b) s foparfafer
Q.13 Explain the following —

(a) Sandmayer reaction

(b) Diazocoupling reaction

=1 P1 FHSSY —
(a) WATSHIR AT

(b) SISTSIT A AT
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Page 5 of 7

[4+4=8]

[3+5=8]

[3+5=8]



UNIT-V/ 5&15 -V
Q.14 Discuss the following — [4+4=8]

(a) EI mechanism

(b) Regioselectivity in hydroboration reaction

1 @1 FrRAT BTy —
(a) EI1 foeafafer
(b) TEsERMEA ffafhar # RiStenRfiefady
Q.15 Discuss the factors affecting the E1 and E2 mechanism. [4+4=8]
El 3R E2 fohaifafer o1 pfad &= et SR &1 fada=r oo |

PART -C / ©@vs— 9§

Q.16 Write notes on - [5+5=10]

(a) PMO theory
(b) Fullerene
fewfort ferfay —
(a) PMO g
(b) B
Q.17 Discuss the following is detail — [5+5=10]
(a) Hammond’s postulates

(b) Hammett and Taft equation
/1 @ R & e Fifig -

(a) THTS IAMATBT

(b) BHE 3R TMUC AHIBRV]

Q.18 Explain in detail, the nucleophilic substitution in — [5+5=10]
(a) Allylic
(b) Vinylic system by taking suitable examples.

ST SETERUT oADR —
(a) fferd
(b) Ta-TSfere 3 ¥ A gl UlaReu+ ®1 IR A qHsgy |
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Q.19 Write notes on — [2V2+2V2+2V2+2V2=10]
(a) Sommelet Hauser Rearrangement
(b) Pechmann reaction
(c) Allylic halogenation (NBS)

(d) Von Richter Rearrangement

fewfordt ferRay —

(a) JMHIC—BISIN gdﬁvuw
(b) Uewe arfwfehar
(c) Vfefers alorieRor (NBS)
(d) a9 — Reex gAfd==T
Q.20 Explain the following reactions with mechanism — [2V2+2Y2+2Y2+2Y2=10]

(a) Stobbe reaction
(b) Benzoin condensation
(c) Michael Reaction

(d) Knoevenagel Reaction
forer arfafopanett o1 fhanfafer wfed awsm=y —

() ¥ afafpan
(b) SSilgT e
(c) gl ifafemam
(d) e sifafar
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